Matrix

The objectives of the task: Secure the skill of solving systems of linear algebraic
equations.

Task Requirements: Solve a system of linear algebraic equations and perform
check.

Instructions for performing:

1. Create matrix of coefficiets of system of equations A. - 0.2 points
2. Create vector of free coefficits b. - 0.2 points

3. Create The first-fourth auxiliary matrixs A1-A4. - 0.6 points

4. Find main determinant D. - 0.4 points

5. Find determinants of auxiliary matrix d. - 0.6 points
6. Find vector of unknowns x. - 0.4 points

7. Checking A*x-b. - 0.4 points

8. Available Comments - 0.2 points

Maximum evaluation are 3 points

You need to create a script file with the solution proposed the system of equations
acting on instructions. Attach a script file with the decision and send.

Variants of tasks.

([ —2) — 2o — 223 — 334 =2 ([ 1025 + 3023 + 4024 = —50
.Y 3r1 — Ty — Tz — 214 = —8 & | 10z; + 20x53 + 30z, = —40
’ 21‘1 + 3'.1'2 —_— 3‘3 —_ .7,'-1 = — 12 i 301'1 + 201‘2 —_ -50.7.'1 = 120

T1+222 4+ 33 —24=38 40z, + 30x2 + 5023 = 50

03z + 22+ 16723 — 2325, =4
3z1 4+ 0204+ Tz —x24 =10

1 — 222 + 333 — 224 = —6

2. 4 T1+ T — 2273 — 314 = —8 6. ¢
] 3z — 2T —x3 + 2754 =4 ’ by +Taa+23—324=4
| 22y +3z + 223 +24,=8 | T2y + x5 + 323 — 524 = 16
[ 7, + 225+ 3z + 424, =5 [ 22, + T+ 52, +2,=8
3. 4 251 + 22+ 223+ 34 =1 7 0.333zy — 22 — 224 =3
o 3r; +2x2 + 13+ 224 =1 ' 2r2 + 13+ 224 = -5
; dzxy + 315 + 223 + T4 = —H | 71+ dx0 4+ Tx3 + 624 =0
[ 0.1z; + 0522 +0.323 — 0.4z, =2 [ —zy 4 T2+ T3+ 24 =12
i 4 03z; + 0.1z, — 022, =0.9 g 4 2r) + 35+ vz + 32, =13
. O.

0.5z; — 0.722 + 124 =-0.9 1521 4224+ 05z3 424 =17
()31_) —0.5z3 =0.1 R 4z, + 31‘2 + 2z4 + Ty = —15




10.

11.

12.

Evaluation criteria: Available Comments,

-2 —x2 + 323 + 224 =40
—T1 + T2 + 3 + 0.6667x4 = 20
-3z — x5 — 33+ 2z, =60
—3z1 — T2+ 313 — 34 =60

3z —6x5 —3z3 + 324 =8
21?1—Jl?2+.l?3+;l';;=5

T1 4+ T2 + 23 + 34 = —1
Ty — Ty — T3+ 34 =10

20z, + 5z5 + 54 = -9
T1 — 3xs +dx3 = T

3.172 — 2.‘1‘3 = 41‘4 =12

1+ 210 — 33+ 334 =10

T —3r2+x3+ 14 =11

Ty + 35 + 5xq + Txy = 12
3z + 522+ Txa+24 =0
—51‘1 —71,‘2 —1‘3—31‘4 =—4

according to instructions.

13.

14.

1

2y + o+ 13 — 34 =11
2y + 12— 34 =2

3z, + x5+, =-3

dzy —dxo — 4223+ 1024, =7

2ty + 13 +4x4 =19

T+ 212 — 23+ 74 =18

2y 4+ xo 4+ 23+ 34 =15

2z — 2z, + dx4 + 224 = —11

5;1'1 —3.7.'2 — 713+3I4 = 1
—T2 — 3.1‘3 + 41‘4 = -5
Ty — 223 — 3x4 = —4

[ 1.3333z) — z2 — 1.6667z3 = 13

no mistakes, the sequence of actions



